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QUESTION 1

Click the Exhibit button. 

You have configured the OSPF network as shown in the exhibit. However, R4 and R5 do not have connectivity to
prefixes outside of Area 10. In this scenario, what will solve this problem? 

A. Configure default-metric on R2 and R3 for Area 10. 

B. Configure no-summaries on R4 for Area 10. 

C. Create a routing policy on R2 and R3 to redistribute Area 0 routes. 

D. Configure the R2-R4 and R3-R4 links as interface-type p2mp. 

Correct Answer: A 

 

 

QUESTION 2

Which neighbor state indicates that two BGP neighbors have full connectivity? 

A. Idle 
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B. Connect 

C. OpenConfirm 

D. Established 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, what information must be acquired about AS65200\\'s configuration for AS65100 to build an
interprovider VPN between PE1 to PE2? 

A. the route-distinguisher of PE2 and the loopback of PE2 

B. the route-distinguisher of PE2 and the loopback of ASBR2 

C. the route-target used for CE-A2 and the loopback of PE2 

D. the route-target used for CE-A2 and the loopback of ASBR2 

Correct Answer: C 

 

QUESTION 4

You want to add a new OSPF area to your existing OSPF network, however, this area will not be directly connected to
Area 0. Which feature would you use to complete this task? 

A. a routing policy 

B. not-so stubby area 

C. virtual link 

D. Type 10 LSA 
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Correct Answer: C 

 

QUESTION 5

After committing the following configuration change on your MPLS VPN PE router, all MPLS VPN destinations become
unreachable. 

Which additional configuration solves the issue? 

A. 

B. 

C. 

D. 

Correct Answer: C 
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